=
o
S

do/dAn” [mb]
2,

10?

10

1071

1072

1073

Ratio to Pythia 6.428 370
[N

0.5

7000 GeV pp

Soft QCD

T T | | | | | ]
= (p,>0.2GeV, h| <5.2) -
— —A— Pythia 6.428 370 =
= - g- Pythia 6.428 391 3
— & Pythia 6.428 default 7]
=\ Pythia 6.428 pro-q20 =

Rivet 3.1.10, = 1.5M events

— S -'\ ) p—
— L NN —]
- s ‘\?"ﬂ |
= FoIN ™ = =
— 4Q\DQQ‘E| =
= 4...4._..‘4\;\& =
- RN
: RIS
— ;;gﬁ;ﬁ -
- | | | | | | | | | L
:l T T T | T T T | T T :
— - 1 vy /i:
- o =N IZIZI : N
N s 5 - D
B e - -E E:H_flf_] _|
L EI._E—B--E{—E—I- g -B-B L T T n

Vg Y N - -

K 4...4._.4 h
| TRR .

¥. : 5
e o SIS S *

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


